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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
) 9,009 2) 7,007 3 5,002 4 6,003
- 6,039 - 6,385 -1,598 -_1,650 5
3.
4.
5 4,007 6) 8,006 7) 8,006 8 3,003 >
-1,723 -1,051 - 3,443 —_1,321 6
7.
8.
9 5,003 10) 3,004 11) 6,003 12) 5,009 9.
-1,119 - 394 -3,863 -1,801
E— EE— —_— — 10.
11.
12.
13) 8,003 14) 9,002 15) 6,009 16) 7,006 13.
-4,727 -1,749 -2,323 -6,910
S S S o 14.
15.
16.
17) 2,009 18) 4,007 19) 7,003 200 5008 17
-1,085 -2,077 - 3,848 —_1,950
18.
10.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 2970
1) 9.009 2 7.007 3 5,002 4 6,003
- 6,039 - 6,385 -1,598 -1,650 , 622
2 970 622 3,404 4,353
3 3,404
4 4,353
5 4,007 6) 8,006 7 8,006 8 3,003 > 2,284
-1,723 -1,051 - 3,443 -1,321 . 6,955
2 284 6,955 4,563 1,682
- 4,563
8 1,682
9 5.003 100 3.004 1) 6.003 12) 5009 o. _ 3,884
-1,119 - 394 -3.863 -1,801 o 2610
3,884 2 610 2 140 3,208
2140
2. 3,208
13) 8,003 14) 9002 15 6,009 16) 7.006 13 3,276
- 4,727 -1,749 -2.323 - 6,910
3276 7 253 3 686 96 . 1,253
15, 3,686
16. 96
17) 2,009 18) 4,007 19 7,003 20) 5,008 - 924
-1,085 -2.077 - 3,848 -1,950
924 1,930 3,155 3,058 18, 1,930
19. 3,155
0. 3,058
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
2,610 3,208 3,884 1,682
622 3,404 2,970 4,563 1.
2,284 4,353 6,955 2,140
2
1) 9,009 2) 7,007 3 5,002 3.
- 6,039 - 6,385 -1,598
- - - 4,
5
6
7
4 6,003 5 4,007 6) 8,006
-1,650 -1,723 -1,051 8.
9
10.
11.
7 8,006 8 3,003 9 5,003 "
- 3,443 -1,321 -1,119
100 3,004 11) 6,003 12) 5,009
- 394 - 3,863 -1,801
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